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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BrE) | GEBAK @) | ERE(EH/AR) | EREE (G/R) [ XS R
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m=850,n FV0=0

725

-o— ME

i
i

850 855 860

51.

50.

50.

49,

49.

48.

51.

51.

50.

50.

49.

49.

52.

51.

51.

50.

50.

49,

49.

51.

51.

50.

50.

49.

49.

48.

m=470, FV0=0

—o— ME

4%5 4é0
m=630,n FV0=0

470

- ME

Gé5 6&0
m=755,n FV0=0

—o— ME

i

760 7é5
m=890,n FV0=0

755

-o— ME

890 895 900

m=510, FV0=0
51.5
—o— ME
51.0 -
50. 5 -
50. 0 -
49.5
T T T
510 515 520
m=665,m FV0=0
51.5 - ~—T
51.0 -
50. 5 -
50. 0 -
49.5
49.0
48.5 L5 | |
665 670 675
m=785,m FV0=0
52.0 - ~—T
51.5
51.0 -
50. 5 -
50.0 -
49.5
49.0 +5 | |
785 790 795
m=930,m FV0=0
—o— ME
51 -
50 -
49 -
930 935 940




52.

51.

51.

50.

50.

49,

49.

39.

38.

38.

37.

37.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

m=975, FVO0=0 m=1035, FV0=0
0 -
—&— ME 59 0 - —&— ME
5
51.5
0
51.0 A
5
50. 5
0
50. 0 -
5
04 49.5 -
9%5 9é0 9é5 1 0I35 1 0I40 1 0I45
m=470,m FV0=0 m=510,m FV0=0
- MW 40. 0 ~ PR MW
0
5 39.5 ~
04
39.0 A
5
0- 38. 5 -
4%0 4%5 4EI30 51I0 51I5 5é0
m=630,m FV0=0 m=665,m FV0=0
40.0
0 —-— MW —o— MW
39. 5 A
5 -
39.0 A
0
38. 5 -
5 4
38.0 A
P
630 635 640 665 670 675
m=755,m FV0=0 m=785,m FV0=0
5 - MW 40. 5 A —— MW
0 - 40. 0 ~
5 1 39. 5 A
0 1 39.0 A
5 1 38. 5 -

760 765

785 790 795

40.

39.

39.

38.

38.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

40 -

38 A

36

A

34 - —o— MW
4(|)0 6(|)0 8(|)0 10|00
m=555,m FV0=0
—-o— MW
0 .
5 .
0 .
5 .
0 T T T
555 560 565
m=695,m FV0=0
—-— MW
0 .
5 -
0 .
5 .
0 .
695 700 705
m=815,m FV0=0
-o— MW
5 .
0 .
5 .
0 .
5 .

820 825

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

40.

40.

39.

39.

38.

m=440, FV0=0
371 —8— MW
36
35
34
4z'10 4215 450
m=595,m FV0=0
0 - —— MW
5 -
0 .
5 .
0 .
595 600 605
m=725,m FV0=0
517 —— MW
0 .
5 .
0 .
5 .
7é5 7§o 755
m=850,m FV0=0
5 - —o— MW
0 .
5 .
0 .
5 .
8&|'>0 8£|'>5 860




m=890, FV0=0

40.5

40.0

39.5 A

39.0

38.5

38.0

——

M_W

890

T
895

900

m=930, FV0=0
40. 5 - —o— W
40. 0 A
39.5 -
39.0 A
38.5 -
9(;:0 Qé5 9:10

m=975, FV0=0
40.5 - MW
40. 0 H
39.5 A
39.0 +
38.5
. . .
975 980 985

m=1035, FV0=0

—— MW
40. 5 A
40. 0 -
39.5 A
39.0 -
38.5 A
T T T
1035 1040 1045




hour
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10:
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16:
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80
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P3-9

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:10 283 150.0 2.888 E|  {Rige07:10 Bah (RE{EREE)
07:45 283 150. 0 2.888 | {Rige07:45 B CGREHERSE)
08:20 283 150. 0 2.888 E 1BRi&e08:20 Bah (RAERE)
09:10 283 150.0 2.888 5| {Ri%@09:10 Bz (FRAERSE)
10:05 283 150.0 2. 888 =l RRi8@10:05 Bz (RFAEESE)
10:50 283 150.0 2. 888 =l RRiB010:50 Bzh (RAEEE)
11:25 283 150. 0 2. 888 =l Rige11:25 Bz (GRAEESE)
12:00 283 150.0 2. 888 =l {Rige12:00 B3 (RAERSE)
12:35 283 150.0 2. 888 S| {Rige12:35 B (REAERSE)
13:05 283 150. 0 2.888 E| {Rig@13:05 Bzh (RE{ERSE)
13:40 283 150.0 2.888 F BRige13:40 Bz CGRAERESE)
14:15 283 150.0 2. 888 S| {Rige14:15 B3 (REAERSE)
14:50 283 150. 0 2.888 E BRige14:50 Bz (GRAERSE)
15:25 283 150.0 2.888 F BRige15:25 Bz CGRAERSE)
16:05 283 150.0 2. 888 =l {Rig016:05 B3 (RAERSE)
16:55 283 150. 0 2.888 E BRige16:55 Bz (GRAERERE)
Bit] 4528.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#[EKECE (1887.0 vs 4847.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=69 (2025-06-10)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f-—— - f———_—]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760 | 3000
2208 2300 9205
100 11800 893 2000
256
50 - 1000
40
Warning: lcol [FVI',| "FVO’'] missing 00
0 + -0
200_( V| — ME P52
FRV maxM
1111 svmsvmm ESUIVEVRIIS ESISRSURUEUN Sovarme T | W A Y R N e e D SSe
(NN
100 + u | | - - - | L 48 =
. [ HEERIRIEEEN
| I N EEEEIIEEN | 46
o B NIEEEEEINIEEE N
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
400 Bylnit }@D71 02:00: ET=2790 Fg=3150.0 Ro=525.0 £14000
] |
: - 3000
|
|
200 | //// - 2000
|
: - 1000
0 — 'k*lf : 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
400 g | BB | BB i | B | g | BB g | BB | B i 5 5 5 i 5 | B5 5 i 5 5 5 i & [ 4000
1
ByEt @D69 19:09: ET=2709 Fg=2250.0 Ro=nan : L 3000
1
200 ~ ———— i - 2000
1
: - 1000
p o - e & o e R
0 o a o - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
400 i 5 | B i | B | g | BB g | BB | B i 5 5 5 i 5 5 5 i 5 5 5 i & [ 4000
1
ByWoFv pD71 02:00: ET=1895 Fg=2400.0 Ro=463.0 L 3000
| &
200 ~ : eSS - 2000
|
: - 1000
b o t &e—& 6 —&— R N
1.0 — - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.8 4 M8 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
1808 3 | A
[ ] | _obs
1000 + —@— PPFD obs
500 -

RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

M_E —e— ME 51.01 —e— wE | 510 ot
i 50. 5 -
49 50. 5 -
50.0 -
i 50. 0 -
48 49.5 -
49.5 1 49. 0 1
47 -
49,04 48.5 -
46 A 48.0 A
T T T T T T T T T T T T
600 800 1000 440 445 450 475 480 485 535 540 545
m=580,m FV0=0 m=630,m FV0=0 m=675,m FV0=0 m=715,m FV0=0
_ 51.5 -
—o— MNE —o— MNE 51 —o— MNE —o— NE
51.0 A 51.0 -
50. 5 - 50 4 50.5 -
50.0 - 50.0 -
49 5 - 49 - 49.5 -
4 i .
49.0 - 9.0
48 - 48.5 -
48.5 -
T T T T T T T T T T T
585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
—e— ME —— ME —o— we | 2187 —e— WME
51.5 4 51.0 -
51.0 - 50. 5 - 51 6 -
50. 5 - 50. 0 -
50. 0 49.5 + 51. 4 -
495 - 49.0 -
485 51.2 -
49.0 -
760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
52.5 - 52.0 -
—e— ME —o— ME —e— ME —e— ME
52.0 - i
52 0 4 51.5
51.5 - 51.0 -
51.5 -
51.0 - 90.5
51.0 -
50.0 -
50.5 -
50. 5 - 49.5 -
50.0 -
50,0 4 49.0 -
895 900 925 930 935 960 965 970 1030 1035 1040



40.

39.

39.

38.

38.

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

38.

T T
600 800

T
1000

400

m=580,m FV0=0

0 —o— MW

5

0

5

0

580 585 590

m=755,m FV0=0

0- —— MW

5

0

5

0

755 760 765

m=890,m FV0=0

01 - MW

5

0

5

0

9 ==

890

895 900

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

41.

40.

40.

39.

39.

m=440, FV0=0

—o— MW
38 -
37 -
36 -
35 B T T T
440 445 450
m=630,m FV0=0
—— MW
0 -
5 -
o -
5 -
0 -
630 635 640
m=785,m FV0=0
—— MW
5 -
0 -
5 -
0 -
5 -
785 790 795
m=925,m FV0=0

-o— MW

o (&)1 o (331 o
1 1 1 1 1

925 930 935

39.

39.

38.

38.

40.

39.

39.

38.

38.

37.

40.

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

m=475, FV0=0
—— MW
5 -
0 -
5 -
0 -
475 480 485
m=675,m FV0=0
0 - —— MW
5 -
0 -
5 -
0 -
5 - T T T
675 680 685
m=825,m FV0=0
51 —— MW
0 -
5 -
0 -
5 -
0 -
855 séo 855
m=960,m FV0=0
0 - —— MW
5 -
0 -
5 -
0 -

965 970

40.

39.

39.

38.

38.

37.

40.

39.

39.

38.

38.

40.

40.

40.

40.

40.

40.

39.

39.

38.

m=535, FV0=0

——

M_Ww

5&0 5&5
m=715,n FV0=0

——

M_W

750 7é5
m=855,n FV0=0

——

M_W

860

862

Bé4 866
m=1030m FV0=0

868

——

M_W

1030

1035 1040
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P3-9

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:20 283 150.0 2. 888 BH| 1Bi%@06:20 Bzh (RAERE)
08:15 283 150.0 2.888 (Z=| {Ri%@08:15 Bzl (FAERSE)
09:05 283 150. 0 2.888 |Z=| {Ri%e09:05 Bz (KREAZHE)
10:20 283 150. 0 2.888 |Z=| 1Ri%e10:20 Bzl (GRAEREE)
11:15 283 150. 0 2.888 |Z=| {Ri&e11:15 Bz (REERSE)
12:15 283 150.0 2.888 |Z=| {Ri&e12:15 Bz (REEZBE)
13:20 283 150.0 2.888 [|/hFu| {Ri&e13:20 Bz (REEZEBE)
14:00 283 150.0 2. 888 FA| {Ri%@14:00 Bz (GRAEEE)
14:40 283 150.0 2. 888 FA| 1Bi&@14:40 B3 (RAFEREE)
15:30 283 150.0 2.888 |Z=| {Ri&e15:30 Bz (GGREAEZEBE)
16:55 283 150.0 2.888 |Z=| {Ri&e16:55 Bz (REAEZERE)
23t 3113.0 (11)%) 1650. 0 3EWHKEC: 2080.0, PH: 5.8

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEBRIERE147.0 ml.
#[EKECE (1897.0 vs 5037.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=68 (2025-06-09)

150 A

100 A

50

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

40

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

400 - Bylnlt
300 -
200 -

100 -

0 —_ YN

D71 02:00: ET=1937 Fg=2400.0 Ro=518.0

—_————————es -

7
- 3000
- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400dZ2=|2=z| B | B | B | B (B[ [m[m|m | m|B|BB|B|wm| W |BE[B[B[BE[B|®]|H
1

300 4 ByEt @68 19:09: ET=1773 Fg=1764.0 Ro=nan :
& o

200- ——— |
|
1
1

100 -

Op—a —a o 2 o ' [ IJ_I W\n

- 3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400{Z2= (2= (%[ B | BB | BB | BB | BB |ER|ER|ER |55 |0W| B | ZSE|(ZE|(ZE|ZE |25 (25 (25 B [ B

300 - ByWOFV

- 3000

D71 02:00: ET=1270 Fg=1650.0 Ro=322.0

- 2000

- 1000

16 17 18 19 20 21 22 23

s lBZB=|B= | B | B | W | 1 22 |2727182 3722 10m] B %

0.6
0.4+

0.2~

XN ENEFEFEFHEFIN 5

M|

2.0 4 o® ’v. ® VP

—_—
o | _obs
—@— PPFD obs

2700 - 3000 ~
092 2208 ©

1800 764 | 2000 =

274 ~

L 1000 &

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



51.

51.

50.

50.

49.

49.

51.

51.

50.

50.

49.

49.

48.

52.

51.

51.

50.

——

M_E

400

660 860
m=615,n FV0=0

T
1000

——

M_E

GéO 6é5
m=830,n FV0=0

830

855 8&0
m=1020m FV0=0

——

M_E

1020

1025 1030

51.

51.

50.

50.

49.

49.

48.

52.

51.

51.

50.

50.

49.

m=370, FV0=0

49 -

48 -

47 -

46 -

45 -

M_E

370

3%5 3é0
m=670,n FV0=0

——

M_E

6%5 GéO
m=865,n FV0=0

——

M_E

865

870 875

34

400

600 800

1000

51.

50.

50.

49.

49,

51.

51.

50.

50.

49.

49.

52.

51.

51.

50.

50.

49.

36.

36.

35.

35.

34.

34.

m=415, FV0=0

—&— M_E

415

4&0 455
m=715,n FV0=0

—&— M_E

7é0 7&5
m=910,n FV0=0

—&— M_E

910

9%5 950
m=370,n FV0=0

—o—

M_W

370

375 380

51.

51.

50.

50.

49.

51.

51.

50.

50.

49.

49.

51.

51.

50.

50.

39.

38.

38.

37.

37.

36.

m=525, FV0=0

——

M_E

550 5é5
m=765,n FV0=0

——

M_E

7%0 7;5
m=965,n FV0=0

——

M_E

9%0 955
m=415,n FV0=0

965

415 420 425




40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

38.

40.

40.

39.

39.

m=525, FV0=0

—0—

M_W

525

T T
530 535

m=765,m FV0=0

—0—

M_W

765

T T
770 775

m=965,m FV0=0

—0—

M_W

965

970 975

40.

39.

39.

38.

38.

40.

39.

39.

38.

38.

41.

40.

40.

39.

m=615, FV0=0

—— MW

T
615

T T
620 625

m=830,m FV0=0

—0—

M_W

T
830

T T
835 840

m=1020m FVO0=0

—— MW

1020

1025

1030

40.

39.

39.

38.

38.

40.

40.

39.

39.

m=670, FV0=0

—— MW

670

6%5 6é0
m=865,n FV0=0

—— MW

865

870 875

40.

40.

39.

39.

38.

38.

37.

41.

40.

40.

39.

39.

38.

m=713, FV0=0

——

M_w

715

7é0 7é5
m=910,n FV0=0

——

M_W

910

915 920




hour
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11:
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12:
13:
13:
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P3-9

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:15 283 150. 0 2.888 E[ BRi&e07:15 Bz (RFAEREEE
07:50 283 150.0 2.888 F[  BRi1%e07:50 Ba1 (GRAERSE)
08:25 283 150.0 2. 888 5| {Rige08:25 B (KRAMERSE)
09:15 283 150. 0 2.888 E BRi&e09:15 Bz (GRAERRE)
10:00 283 150.0 2. 888 F[ BRi%e10:00 Bz (GRAERSE)
10:35 283 150.0 2. 888 =l {Ri%@10:35 B3 (RAERSE)
11:10 283 150. 0 2.888 El BRige11:10 Bz CGRAERESE)
11:40 283 150.0 2.888 S {Ri%e11:40 Bz (GRAERSE)
12:10 283 150.0 2. 888 =l {Rige12:10 B3 (RAERSE)
12:40 283 150. 0 2.888 E BRige12:40 Bz CGRAERESE)
13:10 283 150.0 2. 888 5| {Ri%e13:10 Bz (RAERSE)
13:45 283 150.0 2. 888 = RRiB013:45 B (RFAEESE)
14:20 283 150. 0 2.888 E BRige14:20 Bz CGRAEREE)
14:50 283 150.0 2. 888 5| {Ri%e14:50 B3 (RAERSE)
15:25 283 150.0 2. 888 = RRiBe15:25 B (RFEAERESE)
16:00 283 150.0 2. 888 =l RRiB016:00 Bz (RAKEE)
16:50 283 150. 0 2.888 El BRi&e16:50 Bz CGRAEREEE)
29t 4811.0 (17& 2550. 0 323 KEC: 2080.0, PH: 5.8

HERRHUEME STEAERT (184.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
HERECE (1927.0 vs 4797.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=67 (2025-06-08)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= =]
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
100 2700 2700 592 [ 3000 fl_\
940 023 °
L 2000 =
50 z
00 L 1000 £
40 Warning: lcol [FVI',| "FVO’'] missing
0 -
(
200 A
150 -
|
100 +
50
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
: .00 ET= - _ A
400 Bylnit pD71 02:00: ET=2633 Fg=3300.0 Ro=636.0 | 4000 ©
! &
i - 3000 §§
£
200 - : - 2000
! —
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